Answlers for Frday i) | 92090 . Ackury

A NEW

MWK o0

P& MmiC pqgis8l

1 3, of sh. go,6v0

io

3 xsh‘go,m

P
= ghs. 260X 3
= Shs. Qo000

W

Bﬁ'\D\an'l" spert o othecs
1 X shs' 306, 0v¢
R/
-gh 20vo x|
= gh. acv0

3 B 7
_T¢x RAep
- \ng

I Amourd spent o

tent =
\o

= Hx
o

=Gh\2 0P

3600

‘_L}__‘)QS’\O ,20,50%

D ‘ X392 0L, 670

! SL‘\\S’ .'\‘(070770?0_6-0




P e

*
it

i) 2 x 2Fco0.600°

g/l
S\I\i ;_(_(5-5'0,6‘13'0%3
ghy 19,060,650

Sz ctor for docieg

= 141X 366° < IOgo
i3

FFmo&:n+ spent o salares
2" % 39s00 6o
36b

sh, 2965000 X3

sh. 9 @D’O‘DOO
S”cd-w%f ojr\'\tr \—\-émﬂ

A»moun"’ 5‘\9‘21{\"\' o oYher dems
5 RATLTD
- HS x 3T
&0
##O _
<. g5,000%X9
S\’)‘ /HG 600—0—0
D ffererce i amouat
<hs. Q& 00,690
-Shg. 4 P00 oo
Sh, 560000 0

Shs 5'@|\f:\|”l:?n moTe 18 sVen+

oy

orn Salaries Avon pheer vens

3360713 57

%—quw(i%




